Bio 9: 2013 Spring Final Exam Review 
Name:
_____________________________
Block:___________
Unit 4 Review Questions 









What is the special name given to the shape of a DNA molecule?__________________________________________
How do nitrogenous bases bind to each other? ________________________________________________________
Which part of a nucleotide makes up the actual “code” that DNA is said to contain?___________________________
Who were the two men who discovered the structure of DNA?___________________________________________
What did Rosalind Franklin do that greatly helped the men in question 4 prove that they had discovered the structure of DNA?_______________________________________________________________________________
At the end of DNA replication the DNA molecule contains one old strand and one new strand.  This is known as what?_________________________________________________________________________________________
What biomolecule does DNA have the code to produce?________________________________________________
The Codons for determining amino acid order are found on _____________________________________________
Which nitrogenous base does not belong in RNA but exist in DNA?________________________________________
What are the three types of RNA? __________________________________________________________________
What does the “m” in mRNA stands for?______________________________________________________________
What does the “r” in rRNA stand for? ________________________________________________________________
What does the “t” in tRNA stand for?________________________________________________________________
What RNA parts are present during translation?_______________________________________________________
What has the information for life?__________________________________________________________________
What is a mutation?. ____________________________________________________________________________


 The sugar in DNA is known as ______________________




tRNA contains the ________________  






An RNA nucleotide is made up of __________________________, phosphate, and base.   

DNA is found in the_____________________________ of a cell.

Different combinations of the _________________ 4 DNA bases allow organism to be so different from each other.

tRNA transfers different __________________________ to the mRNA.




Diagram and label a DNA Nucleotide?

Pair the following DNA sequence with is complimentary base: 

DNA(   A     G     A     C      T     C     C   

DNA( _______________________
Pair the following DNA Sequence with it complimentary RNA bases:

DNA(   C     A  G    T      T     A     A      

RNA( _____________________
a) CIRCLE the codons found in this mRNA sequence 

b) determine what amino acids do each codon code for in order from Left to Right.


a) mRNA(   A    A    G U    G    C    G    A    A    C    C    U    

   b)Amino Acids( _____________________________________

What is the name of the enzyme that “unwinds” the DNA molecule?

______________________________________________________________________________________________
What is the name of the enzyme that adds complimentary nucleotides during DNA replication?

______________________________________________________________________________________________
What is the name of the enzyme that adds complimentary nucleotides during RNA replication?

______________________________________________________________________________________________
What are the two differences between the nucleotides found in DNA and RNA?

	DNA nucleotides have. . .
	RNA nucleotides have. . .

	1.
	

	2.
	


Explain the process of translation in detail?

____________________________________________________________________________________________________________________________________________________________________________________________
Correctly label all of the parts of translation.  
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What would happen if the AUG codon was not found on mRNA? __________________________________________
During what stage do individual chromatids replicate. __________________________________________________
An exact copy of a chromatid is known as. . . __________________________________________________________
What shape do chromatids have to have in order for their DNA to copied.___________________________________
How many haploid cells need to fuse together in order to end up with one Diploid cell?__________________

Which of the cells depicted in the line graph are most likely cancerous?____________________________________
What part of the cell cycle is the cell undergoing when there is an increase in the number of cells?_______________
What part of the cell cycle is the cell undergoing when there is no increase in the number of cells over time?______

What process does the diagram to the right show? ________________________
During what phase of meiosis does this process occur? _________________
The letters on the homologous chromosomes to the right are different from each other. What does that mean? 

A diploid cell with a 72 individual chromosomes undergoes meiosis. How many individual chromosomes would be in each daughter cell at the end of meiosis II?

__________________________________________________________________________________






What are three ways that mitosis is different from meiosis I? 

______________________________________________________________________________________________
Application: What process occurs in A and how is this different compared to cell division of body cells ?

____________________________________________________________________________________________________
________________________________________________________________________________________

Let’s say that a normal healthy skin cell was exposed to too much UV radiation during the G1 phase.  Explain what would happen to the DNA of the cell, and explain how this would lead to a tumor.

__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Explain why it is almost impossible to have siblings born at different times be genetically identical to each other. [Help- Explain what happens in Meiosis that leads to genetically different gametes.] 

____________________________________________________________________________________________________________________________________________________________________________________________
Unit 5 Review Questions

How many kingdoms do Bacteria belong to?

How many basic shapes do bacteria have?

What is bacterial asexual reproduction is known as?

What is a capsule?

What types of bacteria live in the most harmful environments?
Where do many antibiotics come from?

What do bacteria release into the body that causes disease?

Since bacteria are prokaryotes, this means they _____________________________________

What do bacterial autotrophs use as a source of food?

Why are viruses considered non-living?

The structures used by bacteria during sexual conjugation to pass on their DNA are_____________________.

Hair like structures, known as ___________, help bacteria stick to surfaces and each other.


What is the relationship between two separate species both getting benefits known as?

What is a bacteriophage?

What are antibiotics used for and how do they work?

Annotate a virus and label the parts and functions.

Annotate a bacterium and label the parts and functions.
What are your intestines are mainly made up of and what do the help your body get rid of?

What are the most common types of bacteria?

What is the circular DNA found inside bacteria known as?

What are the long, whip-like structures used by bacteria to move?

What is the branch of biology that studies how diseases are spread?  

What types of bacteria live in extreme environments?

What is a simple form of sexual reproduction?
Why don’t antibiotics work against viruses?

Unit 5 continued Review Questions
What did Linnaeus use to determine relationships among organisms?
In the name of the white oak, Quercus alba, What is the species name?

Will organisms that share a greater number of taxa be more similar or less similar?

In Aristotle’s system of classification, animals were classified on the basis of what?

A system for naming species in which two words are used to name an organism is _____________________

The placing of information or objects into groups based on certain similarities is _______________________.

The kingdom with the fewest species is ______________________________.

The science of grouping and naming organisms is __________________________________.



The language used for scientific names is ____________________ because it does not change. 

The _____________ a taxon the more general the characteristics and more species it contains.  

Scientist used a system of _________________ to help understand the relationships between organisms.  

Linnaeus is credited with coming up with the basis for the ____________ classification system.

What is the branch of biology that groups and names organisms? 

What kingdom do microscopic, single-celled prokaryotes belong to?

What kingdom do eukaryote that are only heterotrophic belong to?

List the taxonomic categories IN ORDER from the broadest category to the most specific category.
Fill in the table below with the correct Latin names and the correct taxa in order on the left. 
	Taxa
	House cat
	Red fox
	Dog
	Wolf
	Gopher
	Fly

	
	
	Animalia
	Animalia
	
	Animalia
	

	
	
	Chordata
	
	Chordata
	Chordata
	Arthropoda

	
	
	
	Mammalia
	Mammalia
	
	Insecta

	
	Carnivora
	Carnivora
	
	Carnivora
	Rodentia
	Diptera

	
	Felidae
	Canidae
	Canidae
	Canidae
	Geomyidae
	Muscidae

	
	Felis
	Vulpes
	
	Canis
	Thomomys
	Musca

	
	F. domesticus
	V. fulva
	C. familiaris
	C. lupus
	T. bottae
	M. domestica


How does Table indicate that a dog is more closely related to a red fox than a house cat?
From Table which two animals are least closely related? Explain.
What is the complete classification of Canis velox? Use Table

What kind of animal is Canis velox? How do you know? Use Table

What is evolution and  Natural Selection and give an example
Unit 7 Review Questions

Define the following: 

Community-__________________________


Niche-__________________________


Scavengers-__________________________
Decomposers-__________________________

Trophic Level-__________________________


Abiotic factor-__________________________

Biotic factor-__________________________

Biosphere-__________________________

Habitat-__________________________

Parasitism-__________________________

Carnivores-________________________
Herbivores-_______________________________

Mutualism-___________________________________________________________________________________

Growth rate-____________________________________________________________________________________

Immigration-____________________________________________________________________________________

Emmigration-____________________________________________________________________________________

Omnivores-____________________________________________________________________________________

All the energy comes both directly and indirectly from what?____________________________________________
How much energy is lost from one trophic level to the next._____________________________________________
Give an example of competition.___________________________________________________________________
What is carrying capacity?________________________________________________________________________
What are the 6 most common biomes are​ 

___________   ___________   __________________   ________________   ___________   ___________  

Briefly explain the water cycle. 

____________________________________________________________________________________________________________________________________________________________________________________________
Explain how a change in sunlight would affect other abiotic and biotic factors. 

____________________________________________________________________________________________________________________________________________________________________________________________
What effect did the loss of species B have on the populations of species A and D? Be Specific. 


_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
a.





f.





b.





c.





d.





e.








